If you are going to evaluate the integral:

dx

[==
\[.1'2 - 6x+5
using trig substitution, which substitution should you use?

A) x=2tan0 + 3.
B) x=;tano.

C) x=2secl + 3.
D) x=3sin0 + 2.

L3
E) x=;3secd.

Al

fi
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What is the form of the complete partial fractions decomposition

of this function:
-

x(x? + 5)(x* — 4)?

A C
Al 3 x'-'+.. +
A Bx+C Dx+E
) x | x%+5 " (x2-4)%"
A i C D E
) tastaztz™ (x=2)*
A Bx+C HI+E Fx+G
D) x | x%45 T x%=4 [.tz-*l;lr
J'I Bx+C D E F
E) ; x245 * x-2 + + (x=2)?
O A)
O C)
3 D}
ol

Clear my choice

[
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Evaluate: [~ —— dx.

Clecar

Ox-—

In3 —In(-2).
The integral diverges.
In3 —In 2.

—In3 + In 2.
In3 +In2.

my chaoige
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D) 1.
E) The integral diverges.
CA) "
O 8
c)
D)
£)
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Question 3
Mot yt

answered

koo out of
.F'

Y

1 Flag
quuﬁ.tsﬂn

f 2x3 —x+3
x+1
What is p(x)?

A) 2x%—2x+1.
B) 2x*—-x-—1.
c)2x +3x+ 1.

I ID) 2x3 — x + 1.

HEY i 2% ' X

d—f2+()d
= asa | PNEET

Lol - =K.
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Evaluate the integral: [ cos 5x cos3xdx.

A) -%sin 2Xx —-l—lgsin 8x + c.
1° i,
B) 2 sin 2x ——-sin 8x + c.
bl 1 .
C) —ESInZI+Esme+c.
1= 1 |
D) ;S 2x +Esm 8x-+ C.
E) %cnst+%cosBx+c.

O A)
O B)
O C)
® D)
) )

Clear my choice
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A certain substitution gives:

f cot"xesctxdx = f —ut —utdu

What is n?

Ay 7.
B) 5.
C) 4.
D)3
E) iiiiids
Al
i)
C)
D)

s L)
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Evaluate the integral:

1
dx
f VxZ — 16

A) In|x + Va2 — 16| + c.

B) ln|x_' +.C.

1
,l Vx2-16
C) 4In|x+ Vx2 — 16| +c.

. .||Ii L
D)_E+ 14 m-}-c.

| i
E) 2(x%—16)% +c.

& A)

05 8)

“a.¢)

- (D)

“o0p

| ~— Clear my choice
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Quiz n
The integral that represents the volume of the solid ob- [ﬁ{‘i

tained by rotating the region enclosed by y = 4z, y = .+ 3, L

and y = () about z-axis is Ej?[.“? /
A 31y ) Finish atte,
A) f(, (T + 1)dy

Time left O

B) [C.(x+3)2de + [ 16a%dx
C) _[._23(;:' + 3)%dxr — f_l:; 16 dr
D) .[1}:{(.:' + 3)°dx + .];,l(_—— 150° + G + 9)dr

) .I;l:;(.r + 3)dx + _l;.;l(l — 3a)dx

Saelect one;
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